C:h Placing Decimals with Multiplication Name:

Deter mine the placement of the decimal in each product. Answers
7 5.809 x 7.8 = 453102 N\
1. Count the quantity of numbers to the L
right of the decimal for each factor, 2. Add theamountstogether. Y our answer
_ should have the same quantity of numbersto
5.809 has 3 _numbers right of the the right of the decimal. 2
decimal (5.809) 3+1=4
7.8 haslnumbez 7ng)ht of the decimal 5,089 (3) x 7.8 (1) = 45.3102 (4) N
Also noticethat 5x 7=35and 6 x 8 =48, s0 5.809 x 7.8 will be a more than 35 but less than 4
5,
1) 583x9= 5 2 4 7
2 2772x67= 1857 2 4 6.
3 9x299= 2 6 9 1 ;
4 2x734= 1 4 6 8 .
5 6.24x25= 15600
9,
6) gx49= 3 9 2
10.
7) 8.88 x 5.639 = 5 0 0 7 4 3 2
8) 3.224 x 9.96 = 321 110 4 11.
9 5x8553= 42765 "
10) 5x4834= 2 4170
13.
11) 1x2465= 2 4 6 5
14.
12) g3x5751= 4 7 7 3 3 3
13) 439x8= 351 2 15
1) 9aax7= 6 6 0 8 16,
15) _
154x7= 1 0 7 8 17.
16) 1x63= 6 3
18.
17) g301x5= 4195 5
19.
18) 7x2661= 186 2 7
19) 917x68= 6 2 3 5 6
110 |95]8984] 79[ 74| 68] 6358 | 53] 47|
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Placing Decimals with Multiplication Name. Answer Key
Deter mine the placement of the decimal in each product. Answers
7 5.809 x 7.8 = 453102 N\
: 1 52.47
L C.O UAHls quant! e s Etos 2. Add the amounts together. Y our answer
right of the decimal for each factor. < .
_ ould have the same quantity of humbersto
5.809 has 3 numbers right of the the right of the decimal. o 18.5724
decimal (5.809) 3+1=4
7.8has1 numbez 7|r|g)ht of the decimal 5,089 (3) x 7.8 (1) = 45.3102 (4) N 26.91
Also noticethat 5x 7=35and 6 x 8 =48, s0 5.809 x 7.8 will be a more than 35 but less than 14.68
4. .
N 5, 15.600
) 583x9= 5 2 4 7
2 2772x67= 1 8.5 7 2 4 6. 39.2
3 9x299= 2 6.9 1 . 50.07432
4) _
2x7.34= 1 4 6 8 8 3211104
) 624x25= 156 00
9. 42.765
6) gx49= 3 9.2
7) 10. 24.170
8.88 x 5,639 = 5 0,0 7 4 3 2
8) 3224x996= 321110 4 n_ 2465
9 5x8553= 4 2.7 6 5 b 47.7333
10) =
5x4.834 2 4.1 7 O 5 35.12
11) 1 x2.465= 2. 4 6 5
14, 66.08
12) g3x5751= 4 7.7 3 3 3
10.7
13) 439x8= 3 5.1 2 15 0.78
14) gaax7= 6 6.0 8 6. 6.3
15 _
) 154 x7= 1 0.7 8 17. 41.955
16) 1x63= 6.3
' . 18, 18.627
17) g391x5= 4 1.9 55
18 19. 62.356
) 7x2.661= 18.6 2 7
19) 917x68= 6 2.3 5 6
95(89(84|79|74|68(63|58|53 47|
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